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Q1 Which of the following will create a tuple x?

x = (1)
x = (1,)
x = {1}
None of the above
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o

Q2 What is the output of following line of code ?
x= (2, 1, 4)
print(len(x))

Error
3
2

None of the above

Q3 What is the output of following line of code?
X,y, z = (3.3, 4.1, 2.2)
print(x)

2.2
4.1
3.3
None of the above.

Q4 What is the output of following line of code?
X, 5z =1(3.3, 4.1, 2.2)
print(_)

Error
4.1

2.2
None of the above



st = AN | R

2=

Q5 What is the output of following line of code ?
s _ = (3.3, 4.1, 2.2)
print(_)

Error
3.3
2.2
4.1

None of the above

Q6 What is the output of following line of code ?
_s_ = (3.3, 4.1, 2.2)
print(_)

Error

3.3

(4.1, 2.2)

2.2

None of the above

Q7 What is the output of following line of code ?
x = (3.3, 4.1, 2.2) *2
print(x)

(3.3,3.3,4.1,4.1,2.2,2.2)
Error
(3.3,4.1,2.2,3.3,4.1,2.2)

None of the above.

Q8 What is the output of following line of code?
x = (3.3, 3.3, 4.1, 4.1, 2.2, 2.2)
print(x.index(3.3))
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0
1
2
None of the above

Q9 What is the output of following line of code?
x = (3.3, 3.3, 4.1, 4.1, 2.2, 2.2)
print(x[0::2] == x[1::2])

Error
True

False
None of the above

Q10 Which of the following method will not work with Python
tuple object?

sort()

count()

index()

None of the above



